Parts Breakdown

Model PG-IT-0737-R 11378




Parts Breakdown

Model PG-IT-0737-R 11378

Item No.

AN041
AMO82

78795

AN043
AN044

AN045

AN046

AM989

AN047
78192
16473
16474
23749

21103

AM990

AM991

AM992

AM993

AM994

AM995

AM996

Description
Bottom Plate Rib/Rib for 11378
Upper Plate Ribbed for 11378

Left Top Surface-Grooved for 11378

Stainless Steel Base for 11378
Fund Top for 11378

Spring Cover for 11378
Stainless Steel Collecting Tray for 11378
Stainless Steel Cover DX 90° for 11378

LH Stainless Steel Cover 90° for 11378
Top Element for 11378

Bottom Heating Element 220V for 11378
Thermostat 110/220-50/60 for 11378
Pilot Light 220V for 11378

Insulating Panel 110 ZK for 11378

Panel Protection for 11378

Right Lifting Rod 25x8x363 W/Peg for
11378

Left Lifting Rod 25x8x363 W/Peg for
11378

Brass Brake for Grill for 11378

Lifting Pin 12x243 for 11378

Pin D10x247 for 11378

Handle Pin 10x236 for 11378

Position

1
2DX

28X

14DX

148X

Item No.

63480
63481

AM997

AM998
78799

18001

78170

AN048

AN000
78800
78801
AN033
ANO049

AN036

AN050

AN002

ANO001

AN051

AN052

AN053

AN004

Description
Right Spring for 11378
Left Spring for 11378

Black Handle L.235,5 for 11378

Black Drawer Knob for 11378
Pomello P. Sup. Nero for 11378

Knob for 11378

Foot for 11378

Screw TE M6x12 Flang. Knurled Black
for 11378

Flange Screw Zigr. M06x12 for 11378
Screw 6x16 TPSCE for 11378

Screw 8x18 TPSCE for 11378

Grain 8x12 P. Flat CRT HER for 11378
Nut M.6 Extra Low Zinc. for 11378

Hex.Screw DIN 933 M6x16 for 11378
Screw M6x16 TE Inox A2 for 11378

Low Hex.Nut Din 439 M6 for 11378

Antirib for 11378

Anti-Rib SX for 11378

Screw M4x5 TC Z.Bianca x Thermostat
for 11378

Self-Tapping Screws TC+ 4.2x06.5 for
11378

Wire Protecting Spring D.14 for 11378

Position

19DX
198X

20A

21A
22A

23

24

26

26
27
28
29
30A

30A

30B

30B

30DX

308X

31

32

33

Item No.

37273
AN005

AN006

19372
AK103

AN054

16469

AN055

ANO11
AN056
78769
AN057
78808

78810

AN058

AN059

AN060

AN061

AN062

AN063

Description
Washer Dia.6 for 11378
Distance Ring Int.14x4 F.10.5 for 11378

Distance Ring.Est.14x12.3 F.10.5 for
11378

Terminal Block for 11378
Protection Spiral Wires for 11378

Power Cord 3x12 AWG, US Plug for
11378

Wire Panini Brush Red Handle for 11378
Cable Gland PG 13.5+Nut for 11378

Timer Grill for 11378

Monster PD Sir. for 11378
Mostr.Graduata Dim.8x7cm for 11378
Face Plate W. Tim for 11378

Monst. Pers/Neutra. Timer for 11378

Flanged Bushing D12 for Spring for
11378

Screw TC- 5x8 Inox A2 for 11378

Screw TBL M4x12 Washed Combi for
11378

Serrated Washers D.4 Zinc for 11378
Hex Nut M4 Medium Z.White for 11378
Nut M6 Low Zinc. for 11378

Screw TE M4x3.5 Z.White for Timer
for 11378

Position
36
37A

37B

38
40

4

43

47
50
50A
51
51A

65

72

73

74

75

76

7



